Chapter 6

SERIES AND APPLICATIONS
Facts and Formulas :
EXERCISE 1
Circle the correct answer:
1. The n™ term of an arithmetic sequence is given by:
Ay T,=a+{n-1d B) T,= §[2a+(n—1)d]
©) T,=a+nd D) T,=am-1)d
2. The sum of 7 terms of an arithmetic series, given g and d.
(A) S, =la+1] B) Sp=la+(n-1d]
3 © S,= §[2a+(n-—1)d] D) S, = 2n2a+(n-1)d]
3. The sum of n terms of an arithmetic series, given o and /.
A) S, = g[a+21] B) S, ='—Z~[a+l]
(C) S, =n[a+I] D) S, = g[zaﬂ]
4. The n™ term of a geometric progression is given by:
A T,=a” B) Tp=a+r"
© T,=a" D) T,=a+r"
5. The sum of n terms of a geometric series is given by:
@A) s, =) ® s,=2D
(r—1) (r+1)
) ) n .= n__
© s, = a"(r-1) D) S, = a(r"-1)
(r-=1 (1-7)
6. The limiting sum of a geometric series is given by:
A s.=2 @) s =2
r—1 r+1
© 5 =2 D) 5. _a-1
1-r r
7. The condition for an infinite geometric series to have a limiting sum is:
A r>1 B) r<1
© r>-1 D) -1<r<1
8. Formula for Compound Interest
r \n _ T \n
(A) A=P01- ﬁ) B) 4A=P(1+ 100)
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EXERCISE 2 is given by
T = Sn+4
1. Which of the following are sequences and T
which are series?: Evaluate the common difference
(a') 35 5) 75 9> 11, .......... E
(b) 2+4+8+16+......... i
e ! 3. Find the value of x which makes the
() —-7-5-3-1. sequence 19, x, 81 arithmetic.

\ 1 1 1
(& B Yy Find(a) T
i t two terms in each : S
. % Tindtenexttvotemsin each sequence ) S
(a) 4,7,10,13, ..... E | ; 5
(b)  2,6,18,54,...... ! i i
(© 1,8,27,64,...... ! 5%  Forthe AP.: /5, 45, V125, V245, .. ..
" Finddand T o
(d 0,3,815724,....; ; ! ;
(€ 1,1,2,3,5,8,....1 ; 5
Arithmetic Progressions i !
EXERCISE 3 : 5
1. For each of the following, state the B iy ’
common difference:
Tt 6. Given the sequence 4, 7, 10, 13, .. ...
(a) 6: 94’ 128: ------ E i (a) Find 'I:zg ______________________
(b) 8,-1,-10,-19,... ! i E g
2. The n™ term of an arithmetic sequence i E
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Given the sequence 20, 14, 8,2, .....
(a) Find Tig

x+3,2x -5, 4x + 6 are three consecutive
terms of an A.P.

(a) Evaluate x.

10.

11.

12.

13.

x—8,3x+4, 6x— 10 are three
consecutive terms of an A.P.
(a) Evaluate x.

_____________________________________

y+3,2y+7,3y+ 11, 4y + 15 are four
consecutive terms of an A.P.

(a) If y =5 evaluate the terms and
state the common difference.

_____________________________________

(b) If y =—10 evaluate the terms

and state the common difference.

Which term of 2,9,16,23,....... has
a value of 2547

How many terms of 2,9,16,23,.......

are needed to give a sum of 16082‘?
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Evaluate kif »_(5n+7) = 1800.
n=1
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18
Evaluate Z (23-8n).
n=l
12
Evaluate Z (1-4n).
n=l
30
Evaluate Z (6rn-10).
n=5
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17
18
19.
20
21.

is the first term to be negative?

are needed to give a sum of —4495?
Which term of 546, 543,540, . .........

is the first term to have a value greater
How many terms of §, 5,2, -1, -4, . ....

Whichtermof-3,1,5,9,13,.........
than 2007

14.*
1s.
16
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An A.P. with a = 13 has S3p=3435. Find

Using arithmetic sequences calculate the
the value of d.

3 minutes until it last rings at 10:14 am.
number of times the bell rings.

A bell rings at 6:32 am and then every

@ o e P . o = vttt v mn e e M = en

24.*
25
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